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Q1. Choose the correct answer. 1X10=10 Ly e Sz L i1 AUy
1. The factorization of 12x +36 is: ;,-:_Lgffbf 12%+36 .1
x(12+36x) (D) 12(3x+1) (C) 12(3x) (B) 12(x+3) (A)
. The factors of 4x2 — 12)/+Q are: wdranlax -1 2y+9 .2
(2+3x)(2-3x)? (D) (2x-3)(2x+3) (C) (2x—3)* (B) (2x+3)* (A)
. The HCF of g3p3 and gp2 is: ¢ 1kkgb2 1 q3p3 .3
a’b (D) a*pb® (C) ab? (B) a’b® (A)
. The LCM of 162, 4x and 30xy is: e F136215630xy 1% 1 6 x2 4
120x*y (D) 240x°y (C) 240xy (B) 480x°y (A)
. Product of LCM and HCF = ...... of two polynomials: L 2N LWK(E’ I;L;...«,-Jug [e2lai= ... Ku}‘?} J EGJ 2
Quotient =~ b (D) Product — ~ ¢ (C) Difference J/ (B) Sum <+~ (A)
. The square root of y2 — g x + 9 is: < UAuekx’—6x+9 6
3 (D) 3 (C) +(x+3) (B) +(x—3) (A)
. TheLCMof (a— b)2 and (@ — b)* is: < S1cnik(q—p)a(a—b)? T
(a—b)° (D) (a=b)* (C) (a—b)° (B) (a—b)* (A)
. Factorization of x3 4+ 3x2 + 3x + 1 is: :,-;_LE;'?JXS +3x2+3x+1 8
(x—1)(x*—x+1) (D) (x+1)(*+x+1) (€) (x—1)° (B) (x+1)° (A
. Cubic polynomial has degree: :.-e-_rﬂ,;;ﬁ&f A Gn 9
4 (D) 3(C) 2 (B) 1 (A)
10. One of the factors of y3 — 27 is: ez LiEy3 —27 A0
Bothaandc usuy s (D)  x2—3x+9 x2—3x+9 (C) x+3 x+3 (B) x-3 -3 (A)
Q2. Write short answers of the following questions. 2X10=20 _Q: o LF ez AL iy 00002 A iy

| . Factorize by identifying common factors: 15y2 + 20y

Il . Factorize by identifying common factors: 4 g2p + 8 ab?

Il . Factorize by identifying common factors: xy—3 X% +2x

IV . Factorize and represent pictorially: x2 + 4 x + 3

V. Factorize: y2 4 y— 12

152+ 20y /G L/ stdd a7
4{12b + 8{]{)2:4;[#&}5/&5&;(@;:}?”@ |

Xy —3x2+ 2x UL 6F LS sy pn S M

X*+4x+3U 7 IV

X2+ x—12:y 6% .V
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VI Factorize: x2 +7x+ 10 C+Tx+10:u/6% VI

VIl . Factorize: x2 —6x + 8 X2 —6x+8:u/ 6% . VI
VIl . Factorize: y2 — 10x — 24 X2 —10x—24:/ 6% . Vil
IX . Factorize x2 — 3y — 1() concretely, pictorially and symbolically. S B PF S U 5F 2 =3x—=10 - X
X.Factnrize:p2+11p+18 p2+11p+13:u;fd;.f.x
Q3. Write detailed answers of the following questions. 5X2=10 i/ 9 4/"'.,;-_,!,; 20 Ly 300003 / Jiv
1. Factorize: 3y2 — 11y +6 32— 1y +6:L /67 A
2. Find HCF of the following expressions by using division method: 27x>+9x>—3x—9, 3x—2:u/1# <~ nﬂf%y‘ﬁi oK A2 5 .2

27x°+9x?°—3x—9, 3x—2
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